

Divide by 10^{-3} (B)

Find each quotient.

$$42 \div 10^{-3} =$$

$$88 \div 10^{-3} =$$

$$50 \div 10^{-3} =$$

$$91 \div 10^{-3} =$$

$$85 \div 10^{-3} =$$

$$18 \div 10^{-3} =$$

$$68 \div 10^{-3} =$$

$$45 \div 10^{-3} =$$

$$13 \div 10^{-3} =$$

$$90 \div 10^{-3} =$$

$$26 \div 10^{-3} =$$

$$71 \div 10^{-3} =$$

$$45 \div 10^{-3} =$$

$$69 \div 10^{-3} =$$

$$68 \div 10^{-3} =$$

$$49 \div 10^{-3} =$$

$$87 \div 10^{-3} =$$

$$74 \div 10^{-3} =$$

$$76 \div 10^{-3} =$$

$$6 \div 10^{-3} =$$